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20208 & =04 S SHSEESAH A
SN MEEED
MY HASSO OHFIQ ME
tel: S ZHR2IAG (A2 2 HSEEA) (&)
2 S 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ek 668,696 568,606 100,090
= 502,652
Al 125,664
- 40,380
MNASES HEFFO Mz X2 668,696 568,606 100,090
= 502,652
Al 125,664
- 40,380
=SS0 BIANG (AT SHSLEIIAH) 668,696 568,606 100,090
2 502,652
Al 125,664
- 40,380
SIESHAML(ESSHAMY) 375,400 277,801 97,599
2 300,320
Al 75,080
307 21201 A 375,400 277,801 97,599
= 300,320
Al 75,080
01 =L =4l 375,400 277,801 97,599
Os==0 AtH 375,400
= 300,320
Al 75,080
SESHAY (HAMESTIALL) 117,156 117,156 0
= 93,725
Al 23,431
307 gl2tol & 117,156 117,156 0
= 93,725
Al 23,431
01 22224l 117,156 117,156 0
OALMEF X HI 117,156
= 93,725
Al 23,431
oz3acAY(d23HE2A2Y) 150, 186 148,506 1,680
2 97,444
Al 24,362
T 28,380
101 124l 132,026 130, 346 1,680
= 82,916
Al 20,730
T 28,380
03 RIHAZ 22 = 132,026 130, 346 1,680
OgzsdaelAl =S¢ 103,646
= 82,916
Al 20,730
Oodzas02elAL MY 28,380
-—HEH0= 2,075,800& /2%23]| x3H 6,228




SN MERID
HEM: HASSEO ot MOl ME I&
S oS Z0H2IAMI (A= SHELSIAH) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
— L2 A
2,776,000 /209A] 2t*x8A| 2+ x 10 x3H 3,188
- HHZAH| 125,000 »32 12 4,500
- ESH| 125,000 »3%H x12& 4,500
—-J| g 2,075,800 x40%*4 3| *3H 9,964
201 2Et2Hy| 7,600 7,600 0
2 6,080
Al 1,520
01 AP 2t 2] H| 7,600 7,600 0
OEEZ2 ¢ otE ME S 7,600
2 6,080
Al 1,520
202 044l 9,360 9,360 0
= 7,488
Al 1,872
01 2L I 9,360 9,360 0
O 22 22| AF 2L I
260,000 x3¥ x12& 9,360
2 7,488
Al 1,872
203 €2 =&XH| 1,200 1,200 0]
=2 960
Al 240
03 AIZH =& 2 5 X H| 1,200 1,200 0
ORI Atdl2tel gR2F&H| 1,200
= 960
Al 240
OIS ZHAH (HHAHI|) 13,954 13,143 811
= 11,163
Al 2,791
101 Q121 H] 7,474 6,663 811
= 5,979
Al 1,495
04 JI2ZtHIZ2 2 NEE S 7,474 6,663 811
ogz30Ex o2y 7,474
= 5,979
Al 1,495
201 et 1,860 1,860 0
= 1,488
Al 372
01 AR 22l ] 1,860 1,860 0
Ogttf=2y| 1,860
-9230 gRFIE ARES F¢ 1,230
= 984
Al 246




SN MBREDY
M HASEO orEFo M X
tel: S ZHR2IAG (A2 2 HSEEA)
= - - SHE]|
SN FHE - B(BA) - MRAY - BHES Ol &t o4 e
EEERREEIEEEE]
70,0003 x3H x33| 630
= 504
Al 126
202 O4dl 4,620 4,620
= 3,696
Al 924
01 =S LHAYI 4,620 4,620
OdASRHA B Z A O8I 1,920
= 1,536
Al 384
Oodz=20 WEHH 2,700
= 2,160
Al 540
[ {M=1Rs]! 12,000 12,000
801 Gl dl bl 12,000 12,000
01 erol bl bl 12,000 12,000
Oolgl bl 12,000




